Subject Accountancy
HATsal Uea—usl Ae-I

Time — 1 hr Tdem ad - 2020 Full Marks : 40
Class - XI

General Instructions/ JATHATST feider :

1. Write your Name, Roll Code, Roll No. Registration No., Date of Exam., Sitting,
Faculty and Name of the Subject on the OMR Answer Sheet in the space Provided. Put
Your Full Signature on the OMR Answer Sheet in the space Provided.
37T 37Ual &TH, AT Phis, 3ighAIDd, Usilge JA3AT, U<rglm i fafer,
grell, fIsmor gem fdu=r @b a1 OMR 342 Uslch A <1 918 Giole Ul foi=d |
37T 3TUT GRT &IATTT OMR3ITRT Uh H & 915 Slolg U 3 |
2. There are 40 Multiple Choice Questions in all.

BT 40 ITg-—Tadbedi ueeT &

>

3. All questions are Compulsory. Each question carries 1 mark.

Jaft Uee siferart 1 UG Ued 1 3wk BT e

4-Four Options are given for each question. Choose the most suitable option and indicate
it by blackening the appropriate circle [ ® ] in the OMR Answer Sheet given separately.
Use only Blue/Black Ball-Point Pen. The use of Pencil is not allowed.

UG Ued A TR Apey &Y o B sad A IIA Iugad Tabed
gelche 3A 37coT A &I U OMR 3T Uk UIT HABI 9Nl Bl PBIell BT
[ @]3AT P Jiad HBISTA | iteaT AT BT ATA-WTSe BoAH BT & T=IIeT
B3| URAeT w1 u=er afsta B

5. Before leaving the examination hall hand over the OMR Answer sheet to the

invigilator. You are allowed to take the question paper with you.
UL Hdad Bsad A Usdd OMR 393 Usch digles bl ciler Sifor |
UST—Us 31U 3(Ual ATT of Sl Abd & |

Adhere to the instructions above very carefully otherwise your OMR Answer
Sheet will be invalid and will not be evaluated.

Huz aftfa fordell @1 eITeigdes UTelal HIfSIE 37eem 31Ut
3T UAG STHATST EIOM 3T IADB Sfid SIal bt SIrof |




. gIAUleTal 3T oiBTihel @l UIH Y ha UHhId gs off ?
When was the first bood on Books keeping and Accountancy Published?
A) 1598 B) 1446 C) 1494 D) 1698

. Sefepretiar e &

(Long term liability 1s)
A) eieterz (Creditors) B) srorgsr  (Debentures)
C)2= fausr (Bills Payable) D) 3t1ed@ == (Outstanding expenses)
. Bigaifedr & Rigred & IgAR 3ffedd Iidb BT HeT ToIdblall SIrdl 8-
According to the principle of conservatism the closing stock is valued at -
A)eroTd FcT U (At cost price)
B) areii? e Uz (At Market price)
C)coTd HAcT TA dolR Ao H ol BbHA &
(Cost price and Market price whichever is less)
D)sad I wbis <@l (None of these)

. AAHiha Rigledl &1 HAawd & -

The importance of Accounting Concepts is -

A) feraerept & f1@  (For Investors)

B) @=muralt & fere  (For Accounts)

C) 3icbetapi @ fTE  (For Auditors)

D)seard A Jaft (All of these)

. o5 sragmRun & IgAR FGATT B FET Bl TAATT BT cielgR HATelT
SiTar & ?

According to which concept proprietor (owner) of the business is treated as a creditor of
the business?

A) THEHUAT dt 3raer=en (Consistency concept)

B) 3rafer @5t sraemoum (Periodicity Concept)

C) JRAT @5t 3rgenzor (Materiality Concept)

D) sbrs @5t 3raenm2or (Entity Concept)

. JsterHaT A haa wiaddH Bld 2 ?

How many columns are there in a journal?
A)der (Three) B)@m= (Four) C)uia (Five) D)3ATa (Seven)

. olel-34l B AT IT=AT bl Pbad & —

The brief explanation of the transaction is called -
A) AtéIta®=or (Summarizing) B) farazor  (Particular)
C) 3BT (Narration) D) 3= (Information)

. Jbs TET B Tlhbe HWTa® Bl AW Acd — aidl 2|

The balance of ‘cash column’ of cash book always shows a ----- balance.
A) 3fare (Debit) B) @f$e (Credit)
C)2fare =m bfae (Debitor credit) D) setd A bis =ial (None of these)

. Taeesr @& #F fo=m eiar @ -

In sales book record is made -
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15.
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A)HATer &1 faeser (Sale of goods)

B) I8t stabe fass=r (Al cash sales)

C) st 3eme fass=r (Al credit sales)

D) AT b1 Jeft Ieme fass=r (Al credit sale of goods)

urIgs B ofde 9w @ 3rf 7 -

Debit balance as per cash Book means -

A) arferfaess  (overdraft) B) 3Tz oW (Favorable balance)

C) A 30T B<eral (Both A & B) D)seaidi & ahis <&l (None of these)

SId A&k AT cllerdl & dd 3A Hell oiidl & -

When a customer returns goods then he is sent a -

A) st (Invoice) B) 5taAT Ut (Credit Note)

C)=ra u=r (Debit Note) D)seidt A |/ &l (None of these)

35,000/~ BT AT HUT H olefel & diR U2 deiR A FaRa e
orT | AoterHar A ufafte @eft -

Goods worth 5,000 were distributed as free samples in the market. The journal entry will
be-

A) Drawings A/C- Dr 5000

To purchases A/C 5000
B) Sales A/C — Dr 5000

To cash A/C 5000
C) Advertisement A/C — Dr. 5,000

To Purchases A/C 5.000
D) Advertisement A/C — Dr. 5,000

To cash A/C 5,000

douc A Ube @t gEdr dI goriar 3 ?
What type of accuracy is indicated by Trail Balance?

A) Agrfeass (Theoretical) B) 3ichorfoTa=r (Arithmetical)
C) fafuaser (clerical) D) urenf3res  (Practical)
doiue & -

Trial Balance is -

A) ferazor  (Statement) B) =mar  (Account)

C)AarIas &Y (Subsidiary Book) D) =mar—ai&t (Ledger)

IAqGTel DI 2,900 BT AT JdT, Ueg fasba F&r & 39,200 To7sm o=
dr 3§ wacueft -

If goods are sold to rajan for ¥ 2,900 but recorded in the sales Book as I 9,200 then it will
be called -

A) 35eT @t 31fes  (Errors of Omission)

B) f&ara@ @5t 37gfes (Errors of Commission)

C) RAsrea @t 31fes (Errors of Principle)

D) effargzas 37¢ffes (Compensating Errors)

&= Uk Ulham & —

Depreciation is a process of -

A)FFafa & Fcdiceer dI (Valuation of Assets)
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B) Iduf=ii @& JIcmuer b1 (Verification of Assets)
C) Fufa=ai & eI bl 3JB IUATON Sildel A dica bl
(Allocation of cost of Assets to its useful life)
D) JAdufa @& e b "gcral w1 (Decreasing the value of Assets)
3UTcTel B BIRUT AgT H Bl o1 3 B -
Decline in the value due to obsolescence means -
A)STeTR e # Prrae (Fall in the market value)
B) afiferep TerATae/ge—we (Physical wear and tear)
C)Aaa =dia &rer (Effluxion of times)
D)sta ferdATor wa 3nfaser= (Innovation and Invention)
wep FMeT T 20,000 & =[S a8 AT pAOT g f&afr ¥ 20% arfitis
B T A FRA AONAT IrAT| HAT ad B 37ed A FHURT BN HoT Elom-
A Machinery is purchased for ¥ 20,000 and depreciation is charged @20% P.a. on written
down value method. The value of the machinery at the end of third year will be -
A) < 8,000 B)Z 6,000 C) 6,400 D)X 10,240

3MIsle & —

Provisions are -

A)&mar b1 fafer=ister (Appropriation)

B)&@TeT @ 3u¥ weTrT (Charge against profit)

C) ‘A’ 3T ‘B’ @It (Both ‘A’ and ‘B’)

D)sad I wpis <@l (None of these)

ST SRUT/3TUTET 3RUT A Ui & -

Recovery of a Bad Debt is -

A) 3m=rota uritad  (Revenue Receipt)

B) Qoitera writa  (Capital Receipt)

C) Yoiteta == (Capital expenditure)

D) amr=rotad =11 (Revenue expenditure)

fferadmr oS UH oo =T U B

A bill of exchange is an ........ instrument

A) o1 If&T (Unconditional)

B) ot1d Af&a (Conditional)

C) (A) 3T (B) @ra (Both (A) and (B))

D)setd A bis =gl (None of these)

faferas e & w81 @ -

The Parties to a bill of exchange are -

A)ci=zras  (Drawer) B) =ftepat (Drawee)

C) ureagehatl (Payee) D) 3uziera it (All of these)
AT T BT oforarel ™A BT aRBd gRT BT Srar 8, ueg A g
ST & -

Noting charges are paid by the holder of the bill, but it is recovered from -
A) 3teat I (Drawer) B) =ftepat A (Drawee)




24.

25.

26.

27.

28.

29.

30.

C) gsaifeselt  (Endorsee) D)sad I wpis <@l (None of these)

A o Buw Uk e foraml A & R&iar C &1 Jara w2 e & a1
UTthdl &l —

A draws a bill on B. A endorsed the bill to C. The payee of the bill will be -

A A B) B

C) C D)setd A bis =ial (None of these)

S AT 9T deue o5t JIeai B 3MTUR U U JFJAT 31 A 36 B
39T e |

On the basis of information given in the following trial balance, answer Q.No- 31 to Q
No- 36.

Particulars Dr. ) Cr. ®)
goit 1.4.2018 (Capital 1.4.2018) - 80,000
Iafer=m 1.4.2018 (Stock on 1.4.2018) 20.000
ks (Cash) 16,000
I Td fdes=r (Purehases and sales) 60,000 1,00,000
arg{t (Returns) 6,000 2,000
gdelq? TWd ofeler (Debtors and Creditors) 40,000 20,000
gded <=1 (Prepaid Expenses) 20,000 -
3red =T (Outstanding Expenses) - 10,000
dder (Salaries) 22,000 -
el =T (Direct Expenses) 6,000 -
52T (Rent) 10,000 -
3U3b< (Furniture) 12,000 -

2,12,000 2,12,000

g HhA (Net Purchase) = ?

A) 29,000 B) ¥ 30,000 C) ¥ 58,000 D) < 54,000
q& Taes=r (Net Sales) =?

A) % 25,000 B) < 94,000 C) < 20,000 D) ¥ 52,000
ot sifegar zafeem 36,0008, a1 JAber oi1eT &om —

If closing stock is X 36,000, then gross profit will be -

A) % 50,000 B) < 20,000 C) < 46,000 D) % 26,000
el U= 5% TIAT = ?

Reserve on Debtors @ 5% = ?

A) % 20,000 B) < 50,000 C) ¥ 2,000 D) % 10,000
3UBT UT 1 0% uferad &hY e A grA Beh -

Depreciation @ 10% on furniture will be -

A) T 1200 B) < 6000 C) I 12,000 D) ¥ 6000
aifeda afaam < 36000 8t U= faspr amora = 2

If closing stock is ¥ 36000 then cost of goods sold = ?

A) T 48,000 B) < 40,000 C) X 10,000 D) < 18000
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38.

39.

geldl A hlel dlel, AT B ?

Which of the following are/is a current asset?

A) Z&fa=r (Stock) B) fafarer @ste=®  (Debtors)
C)gdeda & (Prepaid expenses) D) 3uztea JFaft (All of these)

afe Rsaerea 2 T 4,00,000; Rrssr emota & T 3,10,000 e uRaresr == @
T 60,000 JAhcT wTH B —

If sales are I 4,00,000; cost of goods sold is ¥ 3,10,000 and operating expenses are <
60,000 then the gross profit is -

A) T 30,000 B) ¥ 90,000

C) < 3,40,000 D) X 60,000

sifedd FId JIR fHU od & -

Final Accounts are prepared -

A) PAvsT g B 3Ted H (At the end of calendar year)

B) Sf=richel 37afer @ 3ted H (At the end of accounting period )
C) we-fererizor af @& 31sd HA (At the end of assessment year)
D) u&a fearett gz (On every Diwali)

BT fPU oY AT U= golls U oTsT & ez oiar @ -
Carriage and Frieight on goods purchased is shown in -

A)creT Bifer Imar #  (Profit and loss Account )

B) @murz Fmar A (Trading Account )

C) feiger A (Balance sheet)

D) 3Tt Jmar A (Suspense Account)

foreer A A HT—AT TAYe IuBRYT TE B ?

Which of the following is not an input device?

A)@r arg (Key board) B) HATefiez (Monitor)

C) Aoafes &b (Magnetic Disc) D) weardt &6 (Floppy Disc)
TAH A DI BHIYST Bl ARASH HEATAT & ?

Which of the following is said to be the brain of a Computer?
A)Twoueiozo (ALU.) B) todroyo (C.P.U)

C) HTeitez  (Monitor) D) 3rz03TowHO (ROM)

BIeT A S 3ich ATSa¥l Ugld 3 IuAdior 8 & ?

Which of the following two digits are used in Binary system?

A)3, 2 B) o, 1

1, 3 D) 2, 1

AHieles ufcdes A e N fadwad et anfau ?

Which qualities should be in Accounting reports?

A) 3ugaar (Relevance) B) IegdT (Accuracy)

C) goutar (Completeness) D) 3ugaa At (All of these)
fotest 3 A Dl DBMS &1 3UehRUT & ?

Which of the following is Component of DBMS?

A) s Aoz (File Manager) B)=fda  (People)




40.

C)srer orsghiy (Data Dictionary) D) A 30z CaYet (Both A and B)
SQL T GRT =t & —

The full form of SQL is -

A) Tgaas ST oieust (Structured Query Language)

B)3<e amifedt otodwst (State Quantity Language)

C) atd=T adeger feee (Service Question List)

D)sad I wbis <@l (None of these)
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32 -

22 -

12 -

33 -

23 -

13 -

34 -

24 -

14 -

35 -

25 -

15 -

36 -

26 -

16 -

37 -

27 -

17 -

38 -

28 -

18 -

39 -

29 -

19 -

40 -

30 -

20 -

10 -



